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IHY | 2HY [3HY| 162 | 82 | 42 | 22 190 | 291 | 391 | +OIESE=S

a5 CLASS 11 1 1 1 1 1 1 6 5 15 45 60 2700
&= CLASS 11 1 1 2 5 10 60 600
R CLASS 11 0 5 0 60 0
3d= CLASS 11 1 1 1 1 1 5 5 10 35 60 2100
A2 CLASS 11 1 1 5 5 60 300
3y CLASS 11 0 5 5 5 60 300
S4t CLASS 11 1 1 1 1 1 5 5 25 60 1500
A2 CLASS 11 1 1 5 5 60 300
Bl CLASS 11 0 5 0 60 0
3d= CLASS 11 1 1 1 3 5 15 60 900
& CLASS 11 1 1 1 1 1 5 5 5 30 60 1800
A2 CLASS 11 1 1 2 5 10 60 600
ER= CLASS 11 0 5 0 60 0
= CLASS 11 1 1 5 5 60 300
A2 CLASS 11 1 1 1 3 5 15 60 900
3y CLASS 11 1 1 1 1 4 5 20 60 1200
o= CLASS 11 0 5 0 60 0
S8 CLASS 11 1 1 5 5 60 300




Hloz| BE=E=X|AHY =0l Q1 Ef i<
(64X} CLASS DF)

Az Mo oldela 246 ELEHE salezma s =" PN st
1A (2K |3HY| 82 | 4% | 22 19| 291 |39 | +HEE=>
B orot 1 1 1 3 5 5 20 60 1200
CH = f3H 1 1 2 5 5 15 60 900
N2 Zofet 0 5 0 60 0
20| 28 1 1 1 3 5 10 25 60 1500
N2 2o & 0 5 0 60 0
M= ot 1 1 1 1 1 5 5 15 40 60 2400
=yl RS 1 1 1 3 5 15 60 900
M= Z/el= 1 1 2 5 10 60 600
a= e 0 5 0 60 0
N2 2N 0 5 0 60 0






